Kerro desimaalit kymmenelld negatiivisella
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V=2 I potenssilla

Nimi: Pdivamadri: _ Pisteet:

3623,8 x 0.001 = 5209, 1 x 0.01 =

4800, 9 x 0.001 = 8645,6 % 0.1 =

4211,7 % 0.1 = 5904, 3 x 0.001 =

1203 x 0.001 = 7062, 8 x 0.0001 =

5880,3 x 0.1 = 5422, 1x0.1 =

9669, 3 x 0.001 = 7512,9 % 0.001 =

6686, 1 x 0.01 = 3853,5x0.001 =

2764, 3 x 0.0001 = 2906,9 x 0.1 =

5079, 1 x 0.001 = 2250,9 x 0.001 =

4083,2 x 0.1 = 2473,2 x0.01 =
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Kerro desimaalit kymmenelld negatiivisella
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V=24 i potenssilla
Nimi: Piivimadrd: _ Pisteet: ____

3623, 8 x 0.001 = 3.6238 5209, 1 x 0.01 = 52.091
4800, 9 x 0.001 = 4.8009 8645,6 x 0.1 = 864.56
4211,7 x0.1 =421.17 5904, 3 x 0.001 = 5.9043
1203 x 0.001 = 1.203 7062, 8 x 0.0001 = 0.70628
5880, 3 x 0.1 = 588.03 5422,1x0.1 =542.21
9669, 3 x 0.001 = 9.6693 7512,9 x0.001 =7.5129
6686, 1 < 0.01 = 66.861 3853,5x0.001 = 3.8535
2764,3 x 0.0001 = 0.27643 2906, 9 x 0.1 = 290.69
5079, 1 x0.001 =5.0791 2250,9 % 0.001 = 2.2509
4083,2 x 0.1 =408.32 2473,2x0.01 = 24.732
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